25t7| Y £ M <ol=EA>

1 s MNEFT 12,000 | 2 24,000 21,600
2 |30 & X| & of CHE 12,000 | 1 12,000 10,800
3 4199t DIFEFO| MY | SHE 13,000 | 2 26,000 23,400
4 |FFA|2H HArE  H7HelHtE 13,000 | 1 13,000 11,700
5 |Zetdl felLtel et o[z RHOJEI0 13,000 | 2 26,000 23,400
6 |[H=0|E AtEsHOrst= 10pAM 2l BEEREIA0E 12,000 | 1 12,000 10,800
7 | HSEELt HE MMop |AQLtR 12,000 | 1 12,000 10,800
8 | AN 7ot S|2EUEO{2I0] 11,500 | 1 11,500 10,350
9 |AHANY fLCH e | AEE 12,000 | 1 12,000 10,800
10 |[AAY &A ZTxOjx  [|C|of 2fH]| o|otF 9,500 | 1 9,500 8,550
11 [AXNE 5t A2 H a2 | 7= 9,500 | 1 9,500 8,550
12 |A780| 4 & Bot YT BEHIO{ZIQ 13,000 | 1 13,000 11,700
13 ([d2&Z 2208 delst [EEsH* 11,000 | 1 11,000 9,900
14 |0Y0| ZEHMX| M= 5 Y712 |22t 12,000 | 1 12,000 10,800
15 |23 49 HE 3 Ha 33,000 | 1 33,000 29,700
16 |mutA HEALA OlEfE | 25 12,000 | 10 120,000 108,000
17 |dItMOof &0t S4|=%2l] B8R | dY 11,000 | 5 55,000 49,500
18 |33, 4T ot 3 =4 11,000 | 2 22,000 19,800
19 |33, 5 otM =4 11,000 | 2 22,000 19,800
20 |3} L|atst Faot (LR 12,800 | 2 25,600 23,040
21 | &oj| ol {tct Ol&% pRI=ETA 13,000 | 1 13,000 11,700
22 |1E9| 7|9 MAZ |02 0|& 11,000 | 1 11,000 9,900
23 |22Et EHi2| MA HHRCH | ZtEE|™et (228D 13,800 | 1 13,800 12,420
24 |2 et EHI2[7F ! | XU JIH [&F=d 13,500 | 1 13,500 12,150
25 [2AFSE 22| 7t= 22tz pazy4 13,000 | 1 13,000 11,700
26 |[7|01A Ef=7| ESTH O|1t3] =H 12,000 | 2 24,000 21,600
27 |4 HA et=Egof A& 29 |zE2ls 13,000 | 1 13,000 11,700
28 |7F K[ Of b AEE pEEEA 0 13,000 | 1 13,000 11,700
29 (1Ot FOj| A 2@+ |ofzHotol 7,500 | 1 7,500 6,750
30 [EFE e HA L E2t3STISH 9,500 | 1 9,500 8,550
31 |LtE= HICHY E M e DOjL S2tfA (223l 13,000 | 1 13,000 11,700
32 |Lie 222 THEOX[X]} O[2X | AXE 12,000 | 1 12,000 10,800
33 |Li= Ef= 7| L A™2 [HOIE= 13,000 | 2 26,000 23,400
34 |LE FEIUO O3 &8 | EES 12,000 | 1 12,000 10,800
35 |Lt= HAISHAHOL 24 | AHAHE 8,500 | 1 8,500 7,650
36 [LIE X|7|= 571K & | dsY HEHE17 12,000 | 1 12,000 10,800
37 |LIOIA Sl = MZHK] Mol |="okR 12,000 | 1 12,000 10,800
38 |Lto| Ol ofE O|gtF |R2lstn 12,000 | 1 12,000 10,800
39 [LIO|E=:Eo| OOF7| 7 | JAZRIOIE (RILIHS 13,000 | 1 13,000 11,700
40 |t 7t8 o OfotwE we[] a2l |0]2H0tol 9,000 | 1 9,000 8,100
41 | =sMT7 ER AL | 2gE | 23E 15,000 | 1 15,000 13,500
42 (W & stobC aget 229 11,000 | 1 11,000 9,900




43 |Lf7} LOtLt OftHHE AL H WEHIHEL HIES 11,000 | 1 11,000 9,900
44 |HE LqF o | DA 11,000 | 1 11,000 9,900
45 |42 ALt afst ctol =2l | ZIALO| O 13,000 | 2 26,000 23,400
46 |2 HAFA O|& 0t He| 13,000 | 1 13,000 11,700
47 |2 E &| 312 ojojo HEZILt9 13,800 | 2 27,600 24,840
48 2ot PN CHE 13,000 | 1 13,000 11,700
49 |CHOM2| Atgf SZT | o7 13,000 | 1 13,000 11,700
50 |[==0|& 7tF Z29% |020|& 11,000 | 1 11,000 9,900
51 |[Eo0t == g8l & Elezid |[sfed 13,500 | 1 13,500 12,150
52 [2tEHE Ho ™ =0 e MeAeEs 13,000 | 1 13,000 11,700
53 |OfAd2t 1 = AlOF Ol ZHAZ 12,000 | 1 12,000 10,800
54 |Ot=28c2| N | E S S e B X 15,800 | 1 15,800 14,220
55 |[OF2E 12|= 010l AP e | EEELD 13,800 | 1 13,800 12,420
56 |OF=2 &= Oto] HaatA |H2M4 15,000 | 1 15,000 13,500
57 |UF g3 |ofoF7| & 16,000 | 1 16,000 14,400
58 |ZF2| Ef=7| Hh=od (M9l =5 12,000 | 2 24,000 21,600
59 |FZ& HO|op? S RSES He| 14,000 | 1 14,000 12,600
60 [HHEEZO|= 47 ofL|Ct| 2t & | AAHE 10,500 | 1 10,500 9,450
61 |&mA AXH A =H 11,000 | 1 11,000 9,900
62 |HUTAL 225t M7 | 10,800 | 1 10,800 9,720
63 |EO|HL} QtEO|AHL} NCH AA| EES 12,000 | 1 12,000 10,800
64 =3l HE dEjz |03 0[S 11,500 | 1 11,500 10,350
65 |& 01§ 7tE A= 222 ojEol| o3| AtS} 13,000 | 1 13,000 11,700
66 |=0[2| 7t7k= HX| ogkQt HYFLIOp 12,000 | 1 12,000 10,800
67 |54 2= =2 +=0[0f| ==l 13,000 | 1 13,000 11,700
68 |20 WEIE Hjopzof USE]  |zeiofol 12,000 | 1 12,000 10,800
69 [H HH Hats gaet | AES 13,500 | 1 13,500 12,150
70 |Hx=E=2 74 oz 7|0 | CHil 2| 7,500 | 1 7,500 6,750
71 |t 274 ol | MR 12,000 | 1 12,000 10,800
72 [&REAA =0i8 HIioHFE 15,000 | 1 15,000 13,500
73 |MAOAM ZHE ST ME S| 1K 3 83 13,000 | 1 13,000 11,700
74 |23 5235 HOlE HAdZEX 9,500 | 1 9,500 8,550
75 |&¥ =Y delgl | HEA 9,500 | 1 9,500 8,550
76 |54t AT BEHO{ZIg 13,000 | 1 13,000 11,700
77 | 7K%Y ol | SHE 11,500 | 1 11,500 10,350
78 |4 DA ol | SHE 11,000 | 1 11,000 9,900
79 |=det f2[8t s | SHE 11,000 | 1 11,000 9,900
80 |49 HFE Hols | SHE 11,000 | 1 11,000 9,900
81 |=dfet HolH gl | SHE 11,000 | 1 11,000 9,900
82 |AIH|OIIIE WitM Q11 HEZET | Meestit 11,000 | 4 44,000 39,600
83 MESHE HEM StatE  |2MojEl 8500 | 2 17,000 15,300
84 |[MZ L= S & EHYE D 1¥= | LHEA 22,000 | 1 22,000 19,800
85 |[MAZtA1-4 = A|Of 2f|O|| = E3< 13,000 | 4 52,000 46,800
86 |MAE HEY RIE &3 13,800 | 1 13,800 12,420
87 |QtLEZF M3 HICHO| Zh= § O 2A| |R2/&tn 13,000 | 1 13,000 11,700
88 |2tdE, & AL HE2 13,000 | 1 13,000 11,700
89 |OHSOF M2 ALiet olg 4iE | EES 13,000 | 2 26,000 23,400




90 |O{ZI0|E %ot HEot MA A 15,000 | 2 30,000 27,000
91 |O{RKLC ®E o] &+ 11,500 | 1 11,500 10,350
92 |%2l 34| BHe|A o T 15,000 | 1 15,000 13,500
93 |?2l R0 &2 H|Y MX| & 8,500 | 2 17,000 15,300
94 |RE|Ltel Z[z=0 of dH[l) =M 12,000 | 1 12,000 10,800
95 |Re|Lietet MAE S 2| FRE 10,000 | 3 30,000 27,000
9 |2 O/ME2tAE Fo|f EfOlzt 11,500 | 1 11,500 10,350
97 |&EtAlOF 2tolH ESPNERe] 14,000 | 1 14,000 12,600
98 A= &L et EHE0] & AlHfS} 13,000 | 1 13,000 11,700
99 |oEAXt ZMAHUE =20 F2F 11,900 | 1 11,900 10,710
100 [O] & 25F 7t ZUAZICH 27|01 12,000 | 1 12,000 10,800
107 [olarst Lhatel 2ol sim=or gee R O|ATNH 25,000 | 1 25,000 22,500
102 |0 =40 HEM LE AX| A 11,000 | 2 22,000 19,800
103 [O|OF7|m1tA Q1= (FE R O|ME 2 8,500 | 6 51,000 45,900
104 |O] 77t 02 QAIEL 13,000 | 1 13,000 11,700
105 (2Lt MHE 2 AEHA| 12,800 | 1 12,800 11,520
106 (AtHStE=d H4=ME  |+=0|C[0{H 25,000 | 4 100,000 90,000
107 |HEY 2-10 = AlOF 2| 0] 12,000 | 9 108,000 97,200
108 | K| FAl A4 11,000 | 1 11,000 9,900
109 |X|7+E F*St= 28| 7| M ZA|0F b=7H 12,000 | 1 12,000 10,800
110 TR L= O™ Ofo|¥7 | =28 B 11,000 | 1 11,000 9,900
111 | & O| &t MBI E oA 12,000 | 1 12,000 10,800
112 |23 R= 31251 PA| 2MY | SHE 13,000 | 1 13,000 11,700
113 |2& Motd M Z DL § 2X[E | HEA 12,500 | 8 100,000 90,000
114 |25 Tt O HAH d8= | CHER 15,500 | 4 62,000 55,800
115 |2l 2 flot WXE 3 dX[E | H=EA 10,000 | 3 30,000 27,000
116 |Z=SSHY0] I ofofF & A A|O{=0] [FEZEN 20,000 | 1 20,000 18,000
117 |X|2] QA EAEM MY 2 |CHtr]=l 11,000 | 1 11,000 9,900
118 |2 X| 7| 2dOf sl | EEE 12,000 | 1 12,000 10,800
119 |RE2L} Ed= ECEZEE SHE 12,000 | 2 24,000 21,600
120 |Ef=7] 212l 1.2 o2 8500 | 2 17,000 15,300
121 |[Ef=7|E Ct= & d8 11,000 | 2 22,000 19,800
122 [Ei=7|8 & 24122 57l 13,000 | 2 26,000 23,400
123 [Egst M2 32|A0IA Y 193z 12,000 | 1 12,000 10,800
124 |ESTHH2 7R 7 0| 23| 11,500 | 2 23,000 20,700
125 [FEH N 12,000 | 1 12,000 10,800
126 |FEAMXL fL| L] 3 ol 10,800 | 1 10,800 9,720
127 |7 0o 2 2 gl 11,000 | 1 11,000 9,900
128 |EEtAE o O| Hof 15,000 | 1 15,000 13,500
129 |5t=0| THE3ICY? Al 0] 10,000 | 1 10,000 9,000
130 |5t=22| 220|= FZHEECtojofLt & 15,000 | 1 15,000 13,500
131 [2t=AF Y= O2I0| ME | 243} 17,500 | 5 87,500 78,750
132 |2t 2 dH AEE 448+ 11,000 | 2 22,000 19,800
133 |2 0|3 20| 2y 13,000 | 1 13,000 11,700
134 |etEtmet A7 ZF0) HY & 15,000 | 1 15,000 13,500
135 |2 2|22 HHot 14,500 | 1 14,500 13,050
136 |2|Y2 A0t 28 ASM | otojzt 11,000 | 2 22,000 19,800
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< Ap(Et

B2O) £ 2>

= EMYE X|20]| EEHAL g7t || 39 gol7t
1 HAOESE 93t DjsXlg =Z2] ZAMA | O|EHSA | 25000 | 1 25,000 22,500
2 | 7t50 Ol= Al StLt & StLp | S| | MLs 10,000 | 1 10,000 9,000
3 7t 4 ZEE | HAEZ| 13,500 | 1 13,500 12,150
4 =12 FAUX | 2EY A 14,800 | 2| 29,600 26,640
5 37t2f Ofzf REE |2/ESAH 16,000 | 1 16,000 14,400
6 S1t0| OO & HfFLC} a4 | sYdEA 15,000 | 1 15,000 13,500
7 M EE Hol=  (WsotdM™ 16,500 | 1 16,500 14,850
8 BT AIRME M {2 oozt MEFAM | EolE | 12,000 | 1 12,000 10,800
9 |W OtOI7} &AL E2E0AH | 229F |[=MX|EO|l 12800 | 1 12,800 11,520
10 O i =22 EEE =} EfR  HAIEZEHY 16,000 | 1 16,000 14,400
11 4| O0r=20[ O{C|0f A=Lf s H S 13,000 | 1 13,000 11,700
12 CHA|, Mo 2 o2 2| o3 2L 16,000 | 1 16,000 14,400
13 CHE Rl AFRl O K| S8F O] ZLAL 20,000 | 1 20,000 18,000
14 | CIXtQl W wso| ZEZH | A=z | MZALs | 17,000 | 1 17,000 15,300
15 2g =25 gSME [eHEletolZ| 22,000 | 1 22,000 19,800
16 |Of% O Zist ALRHS 2 fIo ™| ©=ZX | 2ot 18,000 | 1 18,000 16,200
17 o &} 2f| Al m| OlstEZE | ZEH| 17,500 | 1 17,500 15,750
18 Oj=2tof 2t s =Skt O|Xf= |OHH2O{&E | 20,000 | 1 20,000 18,000
19 HAE D= =3 MELY | BLEA | 11,000 | 1 11,000 9,900
20 | B3l= O{EA LOoiLt=7t |dojH MEat | gmxasiea | 18,500 1 18,500 16,650
HZ=2 A =]
21| BRA YA SIHY | T 1% suest | 25000 | 1| 25000 22,500
22 WZoe| ol st= Y = O 2 H| 16,000 | 1 16,000 14,400
23 | HOtUA= AE #4517 Dr%aj " @ams | 12800 | 1| 12800 11,520
24 A E 1 S X[ QF. A2 WFHA|| Aol 18,000 | 1 18,000 16,200
25 =0 &HE 7|9 A 15,000 | 1 15,000 13,500
26 =M™t 7|5 cs.FO|A | BEAL 14,000 | 1 14,000 12,600
27 =0 2EE 7L ZZ®  HCIXOICI 14,000 | 1 14,000 12,600
28 | AMA=o| LTt Sh= 21l MA= [EBS BOOKY 14,000 | 1 14,000 12,600
29 | O, 242 Loz HMEO} et Of| C| & 18,000 | 1 18,000 16,200
30 oo Huf ZEAl=A[0]1A0|O|C| 0| 14,800 | 1 14,800 13,320
31 22%09| 3tsh 2" |ZZ2|otAHE| 16,000 | 1 16,000 14,400
32 A Z M Q| WAt HXY | f2/stm | 18,000 | 1 18,000 16,200
2| OfZIEfO]
33 EIAE ERA o Fe|gt 16,000 1 16,000 14,400
34 == 2(20~'21) ooy | sY=A | 16,000 | 1 16,000 14,400
35 TZAHl= AQ ZE2EZ s | SYEL 16,000 | 1 16,000 14,400
36 | Zal= ATFE2(2020-2021) | HIXIF | EYSA | 16000 | 1| 16,000 14,400
37 Edl= 3 20LE|0}2020~2021) AR | SYSEA | 17,000 | 1 17,000 15,300
38 FEME £Q usadS Lt o] ol o |=otojl| 15800 | 1 15,800 14,220
39 ot= 2l 0|OF7| oo d oEs 19,000 | 1 19,000 17,100
40 ok 741 SeEdgl =% 29,000 | 1 29,000 26,100
41 St 72 gre = 33,000 | 1 33,000 29,700
42 |22 U= AOLEEQ AR | X% QUM & 16,500 | 1 16,500 14,850




L ol L=
43 SHIL| A 2FA| Hoj 16,500 1 16,500 14,850
x
44 | z20AA (2 0| gl S0/ H|Y G2 E ZZ| ZOjLE 17,000 1 17,000 15,300
45 D Ago| o3t JD.AZIKN QIS A} 8,000 1 8,000 7,200
A 756,000 | 46 | 770,800 693,720
< TUEM =8>
=t o= o =4 o1 7}
1 Otz =AM 212 2,661,200 | 2,395,080
2 WAFEHE B EA 46 770,800 [ 693,720
SHA| 258 3,432,000 | 3,088,800




